
2.9       1)   

       
θέτουμε y

22
x 1 x y 1

f x 1 2x 3x f y 2 y 1 3 y 1
    

          

     2 2f y 2 y 2y 1 3y 3 f y 2y 4y 2 3y 3              

  2f y 2y 7y 5       2f x 2x 7x 5    

2.9       2)   

     
θέτουμε y x 2 x

22
y 2

f x 2 3x 1 f y 3 y 2 1
    

         

       2 2 2f y 3 y 4y 4 1 f y 3y 12y 12 1 f y 3y 12y 11               

2.9       3)   

   

y 3
θέτουμε y 2x x

2
2

2 3
y 3

f 2x 3 4x 10x 7 f y 4 10
2


   

 
       

 

5
y 3

2


7   

 f y 4 
2y 6y 9

4

 
   2 25y 15 7 f y y y 1 f x x x 1            

2.9       4)   

 
2

2 2 2 2 4
2

2

2

2x y
yx y x yx x y x y 1 y x

2 4 y 1

y
θέ

2

τουμε y x

4

y 1x 1x x
f

x 1 x 1

 
           


 

  
  

  
 

   
 

22

2

2

y
y

y 1y 1
f y f y

y
1

y 1

 
      

 
 

 

 

 

22

2

y y 1

y 1

 



  

   
2 2

2 2

y x
f y f x

2y 2y 1 2x 2x 1
   

   
 

 


